Spil 1 «Q106
Nord Giver YyAQ6b6
Ingen i Zone ¢97

&A10543
a4 N aA982
v1098 v & vJ7532
¢AJ6432 S +108
&»762 & K8
aKJ753
vK4
+KQ5
&QJ9
NS 44; NS 3N; NS 3&; NS 1v; @V 1¢;
Par +420: NS 4a=
Spil 2
Jst Giver
N-Si Zone
410953 aKJ82
v82 v974
¢64 ¢A932
&J7652 &A9
a74
YyAQJ5
+K1075
&0Q43
NS 4%: NS 3N; NS 4¢; N 2&: NS 14: S 1&;
Par +620: NS 4v=
Spil 3 & K10
Syd Giver vJ5
-V i Zone ¢J6432
&QJ76
aA83 N «aQ54
v?2 vV & YA87643
¢A1075 S 98
&#K8542 &109
4J9762
vyKQ109
+KQ

&A3



NS 2N; NS 1s; @V 1v; NS 1¢; GV 1&;
Par +120: NS 1IN+1

Spil 4 a AKO9
Vest Giver vAS8
Alle i Zone +84

»AK8764
4J6532 N Q8
v2 v @ vJ10976
¢AJ52 S ¢KQ976
&J93 &0
41074
vyKQ543
+103
&1052
NS 4%: N 2v: BV 3¢; NS IN; @V 1a4; S 1v;
Par +130: NS 4&=
Spil 5 4J108
Nord Giver ¥ A43
N-S i Zone 96
&J10762
aKQ74 N a3
v975 v & vyKJ10862
+J1084 S +Q7
& AK &#9854
aA9652
vQ
¢ AK532
&0Q3
S 3a;: BV 39; N 24;: GV 1IN; NS 1&;
Par +100: @V 4vx—1
Spil 6 o AKS83
Jst Giver YAJ42
@-ViZone 454
47542 41096
v75 v83
+KJ82 +Q63
965 &»A8743




+QJ

vyKQ1.096
¢+A1097
&Q2
NS 6%; NS 4N; NS 44; NS 3¢; NS 2&;
Par +980: NS 6v=
Spil 7 aAQ73

Syd Giver v2
AlleiZone ¢ AJ6

&#KQ954
4J94 N a K5
v963 v o vQJ108
+1087 S ¢+ K43
&8763 &»AJ102
410862
YyAK754
¢+Q952
*_
NS 54: NS 3¥; NS 4¢; NS 2N; NS 2&:
Par +650: NS 44+1
Spil 8 483
Vest Giver vyK732
IngeniZone 4852
&10542
49052 N «aKQ1074
vyAQ94 vV & vJ106
¢+AJ3 S ¢ K7
&J73 &#KQ9
aAJ6
v85
+Q10964
&»A86
DV 3N; BV 36: BV 39; @ 38 @ 2¢; V 248\ 19¢;
Par —400: @V 3N=
Spil 9 4854
Nord Giver YAJ732

@-V i Zone +Q3



432

v98

+9
&#K10987543

NS 49: NS 2N; NS 2¢; GV 2&: NS 1e;
Par +420: NS 4¢=

Spil 10
dst Giver
Alle i Zone

273
vYKQS8
410975
4KQ98

V 3N: NS 2v: @V 3¢; 3 1IN:; @V 1&:
Par —500: NS 4¥x—2

Spil 11
Syd Giver
Ingen i Zone

296
vK106432
+ K
2Q742

NS 44: NS 5¢; NS 44: NS 1N: @V 1v;
Par +420: NS 4a=

4aKQJ109

vQ4
+AJ1054
&)
AAT6
vK1065
+K8762
26
2 AK 10
vAJI106
+AQ3
21043
4Q1J142
v9?2
+KI864
A2
4Q842
v_
409542
#AJ93
y aA1073
vQI87
I . 4,173
2108
s KI5
vA95
¢ A1086
#K65



Spil 12 aA97
Vest Giver v107
N-S i Zone ¢AJ632

&1094
21054 N 4QJ
vyKJ864 v & vyA3
+104 S +K987
&#AQ3 &»#K8752
4K8632
vQ952
¢+ Q5
&J6
@V 3N:; @V 3v: BV 4A%: DV 2¢; BV 1es;
Par —400: @V 3N=
Spil 13 4«AQ85

Nord Giver 998654
Allei Zone ¢ —

&#A1064
4104 N )73
vQ72 Vv @ vJ3
+J9875 S ¢+KQ614
&#KQ5 &8732
aK962
vy AKI10
¢+A1032
]9
NS 64; NS 59; NS 3N; NS 3&: NS 1¢;
Par +1430: NS 6a=
Spil 14 a AK7

@st Giver vJ10
IngeniZone 4983

&#A9432
4aQJ54 N 2109
v52 . B YAKQ643
+QJ76 < A
&KJ5 Q107
48632
v87

¢+ K10542



& 86

@OV 4v: BV 3N: BV 1s: OV 1¢; BV 1&:
Par —420: @V 4v=

Spil 15 492
Syd Giver K853
N-SiZone ¢QJ53

4Q43 4 AKJ10865
vYyAl4 v92
49874 + K
&Q43 &»AJ8
a7
vyQ1076
¢A1062
&#K975
@V 44; BV 3N; NS 2v; NS 3¢; NS 1&;
Par —420: @V 44=
Spil 16 4854
Vest Giver vJ105
@-V i Zone ¢6
&#QJ8532
aKJ632 N aA109
vo8 v @ YyKQ7432
¢+A953 S +K1084
&64 &
aQ7
vyAG
+QJ72
&»AKI1097
@V 5a; OV 59; BV 5¢; NS 3&;
Par —500: NS 6&x—3
Spil 17 aQ7

Nord Giver v75432
IngeniZone ¢ AQ65

& A
4J4 \\ 4 K96
vJo8 \% n) v K10



+KO8
2Q09852

NS 6N; NS 64; NS 69; NS 3¢; NS 3%
Par +990: NS 6N=

Spil 18
dst Giver
N-Si Zone

4 K1083
v863
¢+ AB6
#9076

@ IN; NS 1a; BV 19v; NS 1¢; GV 1&;
Par —90: @ 1N=

Spil 19
Syd Giver
@-V i Zone

4875
vK43
+AQ84
2863

NS 2¥;: NS IN; NS 1s; @ 1¢; NS 1;
Par +110: NS 1v+1

107432

2643
4A108532
vAQ6
0]
&K 107
206
vKJ195
+Q102
*AKI4
aAJ92
vJ10752
4653
£ 10
- 2 K1064
vQ06
i . 4 LK72
200952
403
vA98
+1109
AAKIT4



Spil 20 4973
Vest Giver vyAl02
Alle i Zone ¢+ A8532

&73
Q82 N a AKJ65
vyKQ6 v & vy —
¢+KQJ S 1064
&#A1085 #KQJ94
4104
vJ987543
97
»62
DV 64; BV 6%; BV 5N; BV 3¢; NS 1v;
Par —1430: @V 64=
Spil 21 aA10762
Nord Giver $K 1082
N-S i Zone ¢+QJ5
&4
a K38 N )43
vJ74 v & vYyA53
¢8742 S ¢ AK106
Q1062 S»AJT
Q95
vQ96
493
&#K9853
NS 24: N 2v; @V IN;: GV 2¢; S 1v: N 1&:
Par +100: @V 2Nx—1; @V 3ex—1
Spil 22 4J)874
Jst Giver vyA3
@-ViZone ¢A742
aAG3 & Q
vyK652 vyQ974
¢ 109 ¢KQJ65
&#KQ83 &972
«K10952
vJ108
83

)64



NS 3a; @V 3v; NS IN; GV 2¢; V 2&; J 1&;
Par +140: NS 3a=

Spil 23
Syd Giver
Alle i Zone

aK94
v10975
+A109
*AQ4

@V 2N; NS 2&: GV 1v;
Par —120: @V 2N=

Spil 24
Vest Giver
Ingen i Zone

4J103
vJ1092
+54
&#A972

@V 1IN; @V 1a; NS 1v;
Par —90: @V 1N=

a5
vAQS84
+1542
&K1073

[\
\%

%)

S

4aA8632
vyK3
¢76
#0852

462

YyAQ865

+J109
#865

[\
%]

\%
S

aAQ74
v43
+AB6
211043

4QJ107
vJi62
+KQ83
2J6

aK985
vK7

+KQ732
#KQ



